X = {xlx& 100]5}2] 2}
Y7F f(x) = (x9] &2 oF

RECR RS

@ 370 @)4

F(1) = 1,£(2) = £(3) =
£4) = £9) =3

£(6) = £(8) = £(10) = 4
f(X) ={1,2,3,4}




Fol A oflA A =9

S

gA=10 1, 2} o

®9 @ 12 ® 15

@ 6




F &4 f(x) = —x+a, g(x) =ax+b ol Hot (fog)(x) =2x -4

(o)) = f(s9) = f(ax +1
—(ax+b)+a=-ax+a-bOlBE —ax+a-b=2x-4

:L%Eﬂ, OJAL x o gt FTAo|EZ

a=-2,b=2

Soab=-4




4. 3=

aT

f(x) =2x+6, g(x) =ax—1°] ot fog=gofd i, a 2]
Z2?

1 5
@ 5 @6 @1

Ol

~&B

(fog)(x) =2g(x)+6=2(ax—1)+6
=2ax+4 ---Q

(go f)(x) =af(x)—1=a(2x+6) -1
=2ax+6a-1---©

D, ©°MA 2ax + 4 = 2ax + 6a—1

4=06a-1

5

0o a:a




717

H

vl

K-




fllo

d )7k ol e flx) ot 2

o f(x) = ax + b(a > 0) &) I3+

o, & a, b9 G FoHE?

D)a=1,b=0 @a=1b=1 @ a=2,b=0
@ a=2,b=1 ® a=3,b=0

‘“‘%

Hx) = f(x) 1A f( (x)) =
f(f(x) = af(x) +

—a(ax+b)+b
=a’x+ab+b
ax+ab+b=x

Lat=1,ab+b=0
La=1,b=0




7. flx)=2x-3°]2 g(x) 7k (go f) 7 (x) = 2x & WSAIZ W, g(1) <]

2 gukelz}?

® -2 @ -1 ® 0 @)1 ® 2

B

(8o f)7H(x) =2x & (g0 f)(2x) =x

© g(f(2x)) = x

f(2x) =2e2x-3=4x-3

. 8(f(2x)) = g(4x-3) =x

dx-3 =194 x=1°]E=

glx-3)=x o FHAN x =12 NG5t g(1) =1




8.

+6 a b
24 dF it 5 = 515
Ay2 9} p7} Q). O]HH,aer«] *e?
D -6 @)-3 ® -1 @ 2 © 4

(a—b)x—2(a+b)
x2 -4
w2t a-b=1, -2(a+b)=6

La=-1,b=-
“a+b=-1-2=-3




1 : ! = 5] G
x(x+1)+(x+1)(x+2)+(x+2)(x+3)’€7xl%1 il

2 3
@ x(x+2) @ x(x+2)
O I O —
(x+2)(x+3) (x+2)(x+3)
3
@x(x+3)

1 1 ) ( 1 1 )
= 3
. (x x+1 * x+1 x+2

(- 1)
x+2 x+3
1 1 3

x_x+3:x(x+3)




=4 X — & 93] Y
1- 1-
1-= 1+ -
a a
® 1 @ 1-a @)1 -a?
@ 1+a° ® 1+4a
£ = L X 1

a 1 a
a—1 a+1
a-1 a+1
X
a—-1—-a a+1-a
a—lxa+1_
-1 1

1-a?




11 2 1003, f(x) = “2oleh @ ), f(-0) & f(x) & AHEA

© () @ -f(x) ® {f(x)}’
1
@W ® 2/(x)
—-—x+1 _x- 1 - 1 1

N = 3= _(il> )

x—1




O @ 171 @)2 71 @ 3 7Y ® 4 7




+3,8(x) =-dx-5d 0, (hof)(x) =g(x) &
ZA71E LA h(x) o tiste] (ho g) (-2) & &2 Lrbel7?

@5 @ 3 @1 @ -3 @—5

hix)=ax+b 2 EOH

(ho f) (¥) = h(f()) = h (2x+3)
=a(2x+3)+b=2ax+3a+b
T2, (ho /) (x) = g(x) O1E2

2ax+ 3a+ b= —-4x -5,
2a=-4,3a+b=-5
F,a=-2,b=1°B2 p(x) = -2x+1
(hog)(-2)=h(g(-2))=h(3)=-5

(hof) (x) = g(x) oA

h(f(x)) = g(x) °12L f(x) =2x+3°|B=
h(2x+3) = g(x)

R, (hog) (-2) = h(g(~2)) = h(3)




@9 )8 ®7 @ 6 ® 5

y=2|x=1]+x oA
(1)x21 ¥ ™, y=2x-2+x=3x-2
(i)x<1¥9W,y=-2(x-1)+x=-x+20°]BF
0<x<3Ay=2]x-1+x

webA x =39 o, AR 7, x =1L 0 F$g 17 ER
M4+m=7T+1=38




15. 25 y=[x—1|4+x+|x+1|9 THxE?

@ @

)x<-18m,y=lx—1|+x+|x+1]
=—(x-1)4+x-(x+1)
=—x

i) -l<x<1¥®y=[x-1|+x+|x+1]|
=—(x-1)4+x+(x+1)
=x+2

i) 1<x Qo y=lx—1]4xt+|x+1]

=(x-1)+x+(x+1)

= 3x
i), i), di)ol olatel FolA g
)
-10| 1 =

i

=
rr




16.

I

©)

I

O 1

® I,I,II

@1,

—

{

oA

N
_~ =
ERNe
h__o_u —~ —
_O_I(X\h
L F +
—~— I =
TLE R
s O %
8o T g{\l/
[N
——~ &g

([

o
— x
= [
L=
T+
— —
= =
NN
%0 Y
— =

ol

= —g(h(x)) (7]




17.

~dsx<a D Ry = [T] 0 Ao Ano AT (6
x Bt 327 g2 Fuj o] HSoltt)
@24 @A  @6H @ sH 107}
1) 4<x<-2 40,
—2S§<—1°]E§y:[g]:—2
i) 2<x<0
—1sg<0 O]EEy:[g]:—l
iii) 0<x<2 &,
05%<1 O]E_Ehy:[g}zo
iv) 2<x<4 4o,
1sg<2 o]Eiy:[g}:l
ojFoll A Foixl 9] A o] (-2, -1, 0, 1}°]2=E XH 9
29 A 4 Aolct,




18.

- 1 = x* =5y

po] ohd A== L y7 Xy :__0_\3_%01- O gl Al [¢)

| of ETxy}4x+2y 3= oF o, f-2 o |

29
@2 o1 ® 0 @ 2 ® 5

=y L e sy_urt2y x=-5

Ax+2y 3 = =Ty

Cox2-by? 207 »

o 2xy —10y?




2b + ¢ _ c+ 3a _ 3a+2b4 71 st
3a 2b c

D1, 2 @1, -2 ® -1,

@—1, 2 ®1

B

(i)3a+2b+c+#0Y W,
7H] 9] 2ol A
(26 +¢) + (c + 3a) + (3a + 2b)
3a+2b+c
(ii)3a+2b+c=0¥ W, 2b+c = -3a
. —3a
" 3a

=2




20. Z3o7t Qe FAY ALLS QEZA Y& o2 ALlel= A
717} Qdek. A& S axb—cE a(b—c) 2 AR o] ARHALE7 2
a+b-c+ds AAtstA?

@g—c+d @;—;—c—d e <
a a
@ b—C+d (@)b—c—d

a+b-c+do LEERFE A= At

d > dtc ——(d+c) - b-c-d > b—Z—d




